Romans 11:11
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- is the postpositive inferential conjunction OUN, meaning “therefore, then” with the first person singular present active indicative from the verb LEGW, which means “I say.”


The present tense is an aoristic present for a present fact without reference to its progress.


The active voice indicates that Paul produces the action of saying something.


The indicative mood is declarative for the reality that Paul makes the following statement, that is, he asks the following rhetorical question.  Notice that Paul has used the same construction he used at the beginning of this chapter.  He has taken us back to his original statement and will now advance his train of thought.

Then we have the negative MĒ, meaning “not” plus the third person plural aorist active indicative from the verb PTAIW, which means “to lose one’s footing, stumble, or trip.”


The aorist tense is a historical aorist, which presents the action as a past fact in its entirety without reference to its progress.


The active voice indicates that the Jewish unbeliever produces the action.


The indicative mood is an interrogative indicative, which is used in questions that can be answered by providing factual information.

This is followed by the conjunction HINA plus the third person plural aorist active subjunctive from the verb PIPTW, which means “to fall.”  This use of  + subjunctive expresses the result of the action of the main verb.  It indicates a consequence of the verbal action that is not intended. The  is normally translated so that, with the result that.  In classical Greek  was not used to indicate result.  However, in the NT  is also used to express result, though only on a rare occasion.  “They did not stumble so as to fall, did they?”

The aorist tense is a constative aorist, which views the action in its entirety as a fact without reference to its beginning, end, progress, or result.


The active voice indicates that the Jewish unbelievers did not produce the action of falling down completely.


The infinitive is an infinitive of result.
“I say then, they did not stumble so as to fall, did they?”

- is the negative MĒ with the third person singular aorist deponent middle optative from the verb GINOMAI, which means “to become, to happen, to take place.”  Here it is an idiom of “strong negation, in Paul only after rhetorical questions, meaning: by no means far from it, God forbid, literally ‘may it not be.’  It is found in Lk 20:16; Rom 3:6, 31; 6:2, 15; 7:7, 13; 9:14; 11:1,11; 1 Cor 6:15; Gal 2:17; 3:21; 6:14.”


The aorist tense is a dramatic and gnomic aorist for an action that is emphatically, dramatically, and universally true throughout time and eternity.


The deponent middle is middle in form but active in meaning; the previous rhetorical question by Paul producing the action of being absolutely untrue.


The optative mood is a voluntative optative, which indicates that this action is not only objectively impossible, but is not even subjectively possible.  The action is not hypothetically possible in any conceivable way.  It cannot even be imagined.  Therefore, the translations given above are far too tame to express the forcefulness of this mood.  It really means:
“Definitely not!”
- is the strong adversative conjunction ALLA, meaning “But” plus the instrumental of cause from the neuter singular article and noun PARAPTWMA with the possessive genitive from the third person masculine plural intensive pronoun AUTOS, used as a personal pronoun, meaning “because of their.”  The word PARAPTWMA is used “in imagery of one making a false step so as to lose footing: a violation of moral standards, offense, wrongdoing, ordinarily of offenses against God; and here it is used of Israel’s unbelief;”
 “what a person has done in transgressing the will and law of God by some false step or failure - ‘transgression, sin.’”
  Then we have the nominative subject from the feminine singular article and noun SWTĒRIA, which means “salvation.”  The article is monadic, which distinguishes this salvation as the only such thing there is.  This is the one and only salvation available from God and the one and only message of salvation to mankind.  This is followed by the dative of possession from the neuter plural article and noun ETHNOS, meaning “belongs to the Gentiles.”  “The dative of possession functions like a genitive of possession under certain conditions.  The dative substantive possesses the noun to which it is related.  In other words, the dative of possession is that to which the subject of an equative verb belongs. This occurs with equative verbs such as .  It possesses the subject of such verbs.  The usage is not especially common.  Instead of the word to, supply possessed by or belonging to.  In general, the difference between an indirect object and a possessive dative has to do with act (as seen in the transitive verb) and resultant state (as seen in the equative verb).  …the genitive is used when the acquisition is recent or the emphasis is on the possessor … and the dative [is used] when the object possessed is to be stressed.”  The reason for this distinction seems to be more related to the verb than the case: the dative of possession is used almost exclusively with the equative verb, and the object to be possessed [the salvation] is typically the subject of the verb.  Hence, since a state rather than an act is in view, the emphasis naturally falls on the object [the salvation], and any notion of recent acquisition is absent.”
  In other words, Paul used the dative of possession to emphasize the salvation message of God, which now belonged to the Gentiles who believed in Christ rather than to the Jews, who no longer believed in Christ.

“But because of their transgression the salvation [message] belongs to the Gentiles,”

 - is the preposition EIS plus the accusative neuter singular from the article and aorist active infinitive from the verb PARAZĒLOW, which means “provoke to jealousy, make jealous;” “to cause someone to feel strong jealousy or resentment against someone - ‘to make jealous, to cause to be envious.’”
  Literally this says “to provoke them to envy/jealousy” or “to cause them to be envious/jealous.”  This same thought is expressed in English grammar as a passive idea: “that they might be provoked to envy.”  The important point is that the relationship the Gentile has with God produces the action of causing the Jewish unbeliever to be envious or jealous of that relationship.  The Gentile believer is producing the action, which the Jewish unbeliever is receiving—even though the verb is not in a passive voice.  With this we have the adverbial accusative of general reference from the third person masculine plural intensive pronoun AUTOS, used as personal pronoun and functioning as the subject of the infinitive.  The preposition EIS plus the accusative neuter singular of the articular infinitive is one of the ways in Greek of introducing a purpose clause and should be translated “in order that.”  The intensive pronoun used as a personal pronoun then functions as the subject of the infinitive and should be translated “they” and refers to the unbelieving Jews.


The aorist tense is a constative aorist, which views the whole intent of God with regard to the Jew during the Church Age and states it as a fact without reference to its progress or result.


The active voice indicates that the Jewish unbelievers produce the action of being provoked to jealousy and envy of Church Age believers.


The infinitive is an infinitive of purpose.
“in order that they might be provoked to envy.”

Rom 11:11 corrected translation
“I say then, they did not stumble so as to fall, did they?  Definitely not!  But because of their transgression the salvation [message] belongs to the Gentiles, in order that they might be provoked to envy.”
Explanation:
1.  “I say then, they did not stumble so as to fall, did they?”

a.  Paul takes us back to his train of thought at the beginning of this chapter, when he said, “Therefore I say, God has not rejected His people, has He?”  He asks a similar rhetorical question to continue his train of thought concerning God’s plan for Israel during the Church Age.


b.  In verse one Paul asked if God has rejected His people.  In this verse Paul asks the same thing but gives us the background reason for why God would have rejected them.


c.  Stumbling refers to rejection of Jesus Christ.  “To fall” refers to coming to the end of one’s life without ever having believed in Christ.  In this case it can also refer to coming to the end of human history without ever believing in Christ.


d.  There are two applications here.  One application is to the individual Jew.  The second application is to the nation or body of Jews as a whole.

2.  “Definitely not!”

a.  Paul’s answer to this rhetorical question is the same as his answer in verse one.  “Absolutely not!”  The individual Jewish unbeliever has not stumbled with the result that he has completely fallen down as long as he is still alive.  The individual Jew has the opportunity to believe in Christ as long as he is still alive.  He may be stumbling throughout his entire life, but he does not finally fall down until the day he dies.


b.  The nation of Israel has stumbled in human history by their rejection of Christ during the First Advent.  But the nation of Israel has not completely and totally fallen down, so that they can never get up again.  They will get up again, because Jesus Christ is able to raise them up and will do so at His second advent.


c.  During the Church Age, the Jews are stumbling in disobedience to the will of God by refusing to believe in Christ.  Each time an individual Jewish unbeliever dies, that person has fallen and will never get up again.  They will only go down to Sheol and finally to the eternal lake of fire.  But there are some Jews who stumble for a while during their life and eventually believe in Christ.  They stop stumbling altogether.


d.  The nation of Israel will continue to stumble throughout the Church Age, but they will stop stumbling immediately after the resurrection of the Church, and begin to believe in Christ by the millions.

3.  “But because of their transgression [refusal to believe in Christ] the salvation [message] belongs to the Gentiles,”

a.  However, because of their rejection of Jesus Christ as the Messiah in the First Advent and because of their refusal to believe in Him, the message of salvation has been given to the Gentiles to proclaim to the world.


b.  The Jews were God’s heralds to the rest of the world throughout the Age of Israel.  The Jews were very proud of this and their pride was often turned to arrogance, so much so that they didn’t think the Gentiles deserved to be saved, and therefore, refused to take the gospel message to them.


c.  So when the Jews as a people finally became so antagonistic to Jesus Christ that there was no longer any evangelism of the Gentiles, but only proselytizing to Judaism (keeping the Law for salvation), God changed everything in human history.  Jesus Christ turned the job of evangelization of the world over to the Gentiles and took this responsibility and privilege away from the Jews.


d.  All of the new evangelists were the few Jews who believed in Christ.  They evangelized the Gentiles.  Even the Jewish believers weren’t sure they should be giving the gospel to the Gentiles.  But God the Holy Spirit showed Peter and others the plan and purpose of God, and put His seal of approval on it by the success of Paul.


e.  So for the rest of the Church Age, the salvation message of eternal life through faith in Christ belongs to the Gentiles, who are now the ones taking the message to the Jews.


f.  Principle: when we reject our responsibilities as an individual, God gives the job to someone else to do.  No one is indispensable in the plan of God.


g.  Principle: when we reject our responsibilities as a nation, God gives the job of being His client or representative nation to another nation with positive volition to the word of God.


h.  This passage is not saying that the Jew cannot be saved.  He most certainly can be saved.  But the message of salvation is no longer the responsibility of the Jew because of his complete and total rejection of the love of God as manifest in the spiritual death of Christ on the cross.
4.  “in order that they [Jewish unbelievers] might be provoked to envy.”

a.  Finally, Paul explains why God changed history and gave the responsibility for evangelization of the world to the Gentiles.  God did this for a purpose—that the Jews (as unbelievers) might be provoked to envy of what the Gentiles had—a relationship with God, and would therefore change their mind and believe in Christ.


b.  God does not try to make anyone jealous in the sense we think of it as a human function; for that is a sin, and God can have nothing to do with sin.  “Provoking to envy” is an anthropopathism, ascribing a characteristic of man’s behavior to God, which God definitely does not have, so that we can understand His policy.


c.  God’s policy is to save the Jew.  If He has to give all the privileges and opportunities, all the blessings and happiness, and all the security and protection to another group of people who are believers in order to get the attention of the Jews, then that is exactly what He will do.  This is exactly, in fact, what He has done.


d.  All three members of the Trinity want the Jew to believe in Christ in the worst way.  Therefore, God is willing to bless the Church to the maximum to get the attention of the Jew.


e.  The Jews thought they had it made, until the Church Age believer came along.  Then the Jewish unbeliever saw a Gentile having a relationship with God way beyond anything they had ever enjoyed.  The filling of the Spirit alone was greater than anything they had ever experienced.  They saw Church Age believers having and living the same spiritual life that Jesus Christ had on earth and were astounded.  They had nothing like that, not even close.


f.  So naturally the Jews were envious of the Gentiles, who had a much better relationship and far greater blessings than anything they had ever known.  But God made this all available to them as well.


g.  So God’s plan was to provide greater spiritual blessings for the Gentiles than He had ever provided for the Jews, so that the Jews would want to have a greater spiritual life than anything they had ever known under the Mosaic Law.  Jesus Christ wanted the Jewish unbelievers to imitate and emulate the Gentiles by believing in Him and receiving all that He had intended for them to have during the First Advent, had they only believed in Him.
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